
FF YA3B ... BLK Yamaha Folding Rear Seat Kit 
                   Kit Includes 

1X Step Plate (A)
1X Folding Deck (B) 
2X Front Seat Back Uprights (C) 
2X Handrails (D) 
1X Rear Seat Cushion Set (E) 
2X Deck Support Brackets (F) 
2X Rear Seat Back Uprights (G) 
1X Canopy Frame (H)
1X Rear Seat Back Uprights (I) 
1X Hardware Kit (Not Shown)

Caution:
                Always disconnect the negative battery 
                cable from the battery or battery pack before
                beginning. If your car is equipped with a 
                Tow/Run switch, place the switch in the Tow
                position fi rst. Always wear the appropriate 
                eye protection! 

1. Remove the six bolts holding the plastic canopy
 to the aluminum canopy frame. Lift the canopy 
 off the frame and set aside. See Figure 1.          

                                                                                                                          Figure 1

1



2. Remove the front seat backs from the OEM seat
 back uprights. Set this original hardware aside
 as it will be reused. Remove the four bolts hold-
 ing the rear canopy supports to the bag rack. 
 Separate the rear and middle pieces of the cano-
 py frame from the front support and set aside. 
 See Figure 2. 

3. Remove the access panel. Remove the four bolts
 holding the front seat back uprights to the frame.
 Set this hardware aside for later use. Remove 
 the seat back uprights and bag rack from the 
 cart. See Figure 3. 

4. Remove the two bolts securing the rear bumper
 to the frame and remove the bumper from the 
 cart. See Figure 4. 

Figure 2

Figure 3

Figure 4

2



5. The rear seat plate will install onto the car in 
 location as the factory bumper. Place the step
 plate mounting tabs on top of the frame gussets 
 and secure with two 3/8-16 X 1” bolts and 
 washers. Install folding deck rear supports onto
 step plate using two 3/8-16 X 1.75” bolts and 
 washers. The folding deck rear supports install
 from underneath the step plate. See Figure 5. 

Do not tighten hardware at this time. 

6. Install the two replacement front seat uprights 
 into the frame with the OEM hardware.  Install the
 factory front seat backs onto the new uprights 
 with existing hardware. See Figure 6. Tighten seat
 back mounting bolt, but leave the upright to frame
 bolts loose.

7. Lay the folding deck onto the rear supports. 
 Using two 5/16-18 X 1.75” bolts, washers, and 
 lock nuts, secure the front of the folding  deck to
 the front seat back uprights. Use the provided 
 5/16” spacers in between the Folding deck & 
 seat back uprights to ensure proper alignment of
 the front seat backs. The folding deck rear
 supports will be secured with two 3/8-16 X 1” 
 bolts, washers, and lock nuts. Install each of the 
 two handrails onto the folding deck and step pla-
 te using two 5/16-18 X 1.5” bolts, washers, and 
 lock nuts for the folding deck mounts and one 
 5/16-18 X 2.75” bolt, washer set, and lock nut
 for the step plate mount. See Figure 7. 

Figure 5

Figure 6

Figure 7

3



8. Assemble roof frame using the provided rear strut
 supports and center sections. Secure by install-
 ing rear seat back uprights using two 1/4-20 X 
 2.75” bolts, washers, and lock nuts for the front
 seat back upright mounts and two 5/16-18 X 1”
 bolts, washers, and lock nuts for the folding deck
 mounts. See Figure 8. 

9. Now go back through the rear seat kit and tighten
 all hardware left loose in the previous steps and 
 reinstall the rear access panel. 

10. Attach the rear seat bottom cushion to the folding
 deck frame with six 1.25 wood screws. Install 
 the pull strap between the seat bottom and folding
 deck frame and secure with the upper middle 
 wood screw. See Figure 9. 

11. Install rear seat back and rear seat back brace
 onto the rear seat back uprights with two 1/4 X
 1” bolts. The rear seat back brace installs on the 
 inside of the rear seat back uprights. See Figure
 10. 

12. Reinstall the canopy using original hardware. 

Figure 8

Figure 9

Figure 10

307 C/4 4

Pull Strap


